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18. Suppose that a smoker and a non-smoker are seated next to each other in a restaurant. This

19.

20.

21.

22.

23.

restaurant does not offer a non-smoking section. The smoker is indifferent between 1) smoking
and 2) not smoking and consuming a $6 dessert. The non-smoker values being able to eat in a
smoke-free environment at $10. According to Coase’s Theorem, and assuming no bargaining
costs, what will happen?

A) The smoker will continue to smoke because that is his right.

B) The smoker will stop smoking, just to be a'nice guy. :
C) The non-smoker will offer to pay the smoker.between $6 and $10 to stop smoking, but the

smoker will refuse because he has the right to smoke.
D) The non-smoker will offer to pay the smoker between $6 and $10 to stop smoking, and the
smoker will accept the money and refrain from smoking.

The price of good A falls and the demand for good B decreases. Goods A and B are
A) Cannot be determined

B) Substitutes

C) Complements

D)Normal goods

Suppose MRS, , =3 forall levels of x and y.Goods x and y are

A)perfect substitutes.
B) perfect complements.
C) normal goods.
D)inferior goods.

Suppose that the market for bicycles is initially in equilibrium. Further suppose that there isan
increase in the price of bicycle helmets. Which of the following accurately describes the new
equilibrium?

A) The equilibrium price will rise; the equilibrium quantity will fall.

B) The equilibrium price will rise; the equilibrium quantity will rise.

C) The equilibrium price will fall; the equilibrium quantity will fall.

D) The equilibrium price will fall; the equilibrium quantity will rise.

Suppose the price of A is $4, the price of B is $2, and that the consumer is currently spending all
available income. At the consumer’s current consumption basket the marginal utility of A is 5
and the marginal utility of B is 3. ‘

A) The consumer is currently maximizing utility.

B) The consumer could increase utility by consuming more of good A and less of good B.

C) The consumer could increase utility by consuming more of good B and less of good A.

D) Nothing can be said about the consumer’s utility because we do not know the consumer’s

income or utility function.

Which of the following is NOT a real-world example of third-degree price discrimination?

A) A railroad charges more to haul 100 tons of coal than it does to haul 100 tons of grain.

B) An airline charges a lower price for a coach ticket purchased four weeks in advance than for
the same type of ticket purchased three days in advance.

C) A movie theater charges senior citizens a cheaper price for movie tickets than it charges
non-senior citizens for the same movie ticket.

D) Sam’s Club® warehouses sell bulk quantities of macaroni and cheese for a cheaper per unit
price than a grocery store, but the boxes are packaged together so that the customer must buy

six boxes at a time.
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24.

25,

Suppose that a consumer’s demand curve for chocolate can be expressed as P =10— 20°, and
suppose that the market is initially in equilibrium at a price of $4. Now suppose that the price
rises to $6. What is the change in consumer surplus?

A) An increase of 5. '

B) A decrease of 2.

C) A decrease of 4.

D) A decrease of 5.

The production function Q=KL exhibits
A) increasing returns to scale.

_ B) constant returns to scale.

26.

27.

C) decreasing returns to scale.
D) undefined returns to scale. .

An example of a good that is non-rival but exclusive is
A)hunting in a public game area.
B) national defense.
C) public radio.
D)a pay-TV channel.
Of the following choices, which good should have the most elastic price elasticity of demand?

A)Candy bars.
B) Snickers candy bars.
C) Chocolate candy bars.

D) Candy.

28.

An environmental economic consulting firm is hired to measure the production schedule for a
coal-burning electric generating plant in such a way as to incorporate the negative externalities
associated with the pollution from the plant. The marginal social cost of this plant’s production
can be expressed as MSC =3Q . Prior-to the consulting firm’s report, the consultants asked the
plant’s manager for data to generate the firm’s supply schedule. The consultants calculate that
the marginal private cost of the plant’s production can be expressed as MPC =0. The firm’s

demand curve can be expressed as P = 60—20 . If the consultants have accurately measured the
impact of the pollution externality, the firm is by dollars.
A)under-pricing; 8

B) over-pricing; 8

C) under-pricing; 16

D)over-pricing; 16

s SHEHE - RETIEE - TGS R - HEHEEAY - EETEN #1165} °

1.

Consider a perfectly competitive market with market supply Q° =-2+P and market demand
Q? =30- P. Suppose the government imposes an excise tax of $4 per unit on this market.
What is the deadweight loss from this tax?

Suppose that a market is initially in equilibrium. The initial demand curve is P =90—-0".
The initial supply curve is P =2Q°. Suppose that the government imposes a $3 tax on this
market. What is the change in consumer surplus due to the tax?
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3. Suppose in a market with 0% =200-10P and Q° =10P the government imposes a price
floor of $15. If the government is required to purchase any surplus at the price floor, how much
will the government have to pay to purchase the surplus in this market?

4. Suppose that a particular plant emits a chemical that pollutes the ground water. Without
considering the effects of the pollution, the firm has a marginal private cost curve of
MPC =20 +30. The firm faces a demand curve of P =60-Q . If the firm were to incorporate

the costs of the pollution, the firm would have a marginal social cost curve of MSC =40 +30.
What is the value of an optimal emissions fee that would achieve the socially optimal level of
output? : ‘
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17. Use Taylor expansion to estimate I >
, s l+x

to the 6™ decimal place.

18  Sketching the graph of the function f(x) =sinx+cosxon[0,27] -
Please indicate the roots, the relative extrema, concavity, and inflection points if

applicable.
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Batman wants to predict the number of votes he can get in the
Bravest Hero election. A random sample of 1,000 voters
showed that 360 of these voters would vote for Batman.
Assuming that the population is infinite, what is the 95%

fw %

9L %

‘confidence interval for the percentage of votes that Batman

would get in the election? [ K& 20 4]
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11 2.60 3.05 3.82 4.57 19.68 21.92 2472 26.76
12 3.07 3.57 4.40 523 2103 2334 2622 2830
13 3.57 411 5.01 5.89 2236 2474  27.69 29.82
14 4.07 4.66 5.63 6,57 2368 26.12 2914 31.32
15 460 523 6.26 7.26 25.00 27 .49 30.58 32.80
16 5.14 581 6.91 796 2630 28.85 32.00 34.27
17 5.70 6.41 7.56 867 2759 3019 3341 35.72
18 6.26 7.01 8.23 939 2887 3153 3481 37.16
19 6.84 7.63 8.91 10,12 30.14 328  36.19 3858
20 743 8.26 9.59 10.85 3141 34.17 3757 40.00
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Please answer either question 1 or 2, and 3. And provide the answilé in English.
=

1 ~ What was your favorite subject(s) at undergraduate level, Why and how you
studied it (them) ? (5096)

2~ Please discuss your knowledge about public affairs management. (50%)

3 + Please prepare your international study po greim, including the courses to take and
the background knowledge preparation, language and living adjustment. (56%)




